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NJ-1216
B.Com. (Part - III) Examination,

Mar.-Apr., 2023
Compulsory Group - i
Paper : IV

) MANAGEMENT ACCOUNTING
Time Allowed : Three Hours
Maximum Marks : 75

Minimum Pass Marks : 25
A : T I B IR AR Ty $ 3% TH §
Note : Answer all questions. All questions carry equal
marks.
3s-1 / UNIT-I
Q. 1. YEUDNI erEa® § T AR 2 ° 366 T I
vd deiel @ fqaTeT difel
What is meant by management accounting ?
. Discuss its main tdols and techniques.
3yar / OR

frfeiaa aneg 31 femaR, 2022 @ Tt S
& R ¥ foe mo &
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o L4
Ads 30,000
TR 15,000
w®id 10,000
e 5,000
AR

& e 3,000
faat 50,000
oq 36,000
g A 6,000

IE ol & R R FeAfeRea @ moFm
ifse :

(1) oEa gE U

(2) TRew™r U

(3) <efrn o fodt @ sEER

(4) 2T B ARG AT

(5) 3twa <@ s ®
The following data are being taken from the
records of Radhika Bakery as on 31st
December, 2022 :
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Particulars i3
Cash 30,000
Debtors 15,000
Stock 10,000
Prepaid Expenses 5,000
Creditors 15,000
Bills Payable 3,000
Sales | 50,000
Purchase 36,000
6,000

Purchase Return
0}1 the basis of above informations compute the
following :
(1) Working capital ratio
(2) Acid test ratio
(3) Stock and cost of sales ratio
(4) Payable turnover ratio
(5) Average time of payable

goe-1I / UNIT-II
DY yaE Ao @ & ? g8 Aes WaE faewor ¥
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What is a fund flow statement ? How does it

cash flow statement ? Explain the

differ from
main sources and uses of funds.
srar / OR
&g B & Preifea Rigdt & 3R W A$5 T*W
=T &1 '
faa=on 2022 2021
(4 4
I. a1 vd alie:
1. 3IERY DN :
3w Gt 8,00,000 | 7,00,000
9 vd DY - _
2. A i :
RS 2T
fafaer érer 90,000 | 100,000 °
<@ fawa 90,000 | 1,20,000
R S 40,000 | 30,000
am  |10,20,000 | 9,50,000
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II. wwfat:
1. R-arg kA
waq 5,40,000 | 6,00,000
Faa 3,70,000 | 2,00,000
2. dIc] [ :
<efeaar 12,000 10,000
IuRe w@
TER 45,000 70,000
g faum 45,000 60,000
g 7 g TG 8,000 | 10,000
anr | 10,20,000 | 9,50,000

(1) urg 3§ & SRF T 8,000 TR oIl

(2) @wre (¥g7) W g9 I 15,000

(3) =g 9§ & IRW vd T T 50,000 ¥ WK
T 3R S R S SR 3 R
|

Prepare cash flow statement from the following

Balance Sheet of Vaibhav Ltd. :
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particulars 2022
£4

I

Equity and Liabilities :

1.

Shareholder's fund

Share capital

Reserve and surplus

Current liabilities -
Trade payables
Sundry creditors

Bills payable

Provision for taxation

|

8,00,000

90,000
90,000
40,000

Total
1. Assets :
1. Non-current Assets
Building 5,40,000
Plant 3,70,000
2. Current Assets :
Inventories 12,000
Trade Receivables
Debtors 45,000
Bill Receivable 45,000
Cash and Cash
Equivalent 8,000
Total 10,20,000
B
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(7)

R
2021 iti
" Additional Informations -
| — 1 ‘
(1) Tax paid during the current year for % 8,000
2 -
- 00000 (2) Depreciation on plant ¥ 15,000.
_ (3) During the current year, purchased a pla;nt
e
'\ 'y for ¥ 50,000 and the payment was made by
1,00,000 the issue of shares.
1,20,000
000 $E-111 / UNIT-III

9,50,000 Q. 3. ‘sRN a1 @Ry ok § ‘\E?mm‘
T @ yftyest

7 5u Pofa o R = T sRaT &

6,00,000 N e

2,00,000 What i
at is the role of marginal costing in the

10,000 decision of 'Make or Buy' ? Discuss the facto
rs

oo 0) ,’ also which effect this decision.

60,000 3ar/ OR
o
EC
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(8) | ' ' (9)

_ 10,000 (@) dk fowa geo 5% a9 X fGar s @i
fipa o ¥ .
. T 20,000 | 12,000 ¥ @Y e a1 fa-r sEal &< W ?
Z 60,000 The following data relate to the production and
@ '
z 1'} sales of a company for the year 2022 :

wRadde A o R -~

Sales in units 10,000
3w & IR R PiisE

Loss ¥ 20,000
(31) TH-AET S ,

Fixed Expenses ¥ 60,000

frade '

(@ g Variable cost per unit T 16

On the basis of above, determine :

woRe @ & @ g aw B e R (@ P/V Ratio
ZPRAT a1 T ? (b) Break-even point

@ aRk fEE w® 10,000 T fRe aa %m” ® (c) 'How many units should be sold to-earn zero
W T 20,000 ¥ AE @y TR A g profit if rupee one per unit is spent extra on

’ attractive packing ?
T R & somar &N 7w 2
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(10)

(d) How many units should be sold if ¥ 10,000

extra should be spent on advertising and an
annual profit of T 20,000 is desired ?

(¢) How many units should be sold if sales
price is reduced by 5% and a profit of X
12,000 is desired ?

-1V / UNIT-IV
Q. 4. Focd P gar @ 2 g e  fre s S

T AT Hedl B fadeEr Hfswl

What is Budgetary Control? Discuss the

necessary steps which are taken for its

installation.
3ar/ OR
T SREHT H 10,000 34T & 3T F fore =g

goic e yeR e e &
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T o 3o
i 70
HH 25
wRadea sRera 20
R JURTT 1,00,000 I 10
wRadia @@ 5
i =g 10% R 13

fgaror @a 20% FeR

we=ie &d 50,000 £4

7
5

el A T 155

8,000 STEdl vd 6,000 5T B ferE I & T

SR | 78w & 5 TR

fer &l
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The expenses budget for production of 10,000

Prepare a budget for the production 8,000 ang

units in a factory are furnished below : 6,000 units. Assume tha T _
X per unit are rigid for all level of progyction,
Materials 70 N e -V | UNIT.Y
Labour 25 Q. 5. M e R ¥ @ 20 ses an ok
Variable overheads ' .20 A & T St
Fixed ov'erheads ¥ 1,00,000 10 What is meant by standard costing ? Discuss its
Variable Expenses - 5 advantages and applications.
Selling Expenses, 10% fixed 13 3rqar / OR
Distribution Expenses, 20% fixed 7 o 9 frafoRaq faaor § W T R &t F
Administrative Expenses ¥ 50,000 5 | e :
Total Cost X E W S 9IRp
P.T.O.
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A 10,000 Tv¢ & 0.50 ¥ wfd GoeT
B 10,000 uv¢ ‘& 0.25 ¥ iy Gwer
CUSICCRE R

A 12,000 T & 0.60 T wfy Tver

B 8500 u0¢ & 0.40 T Wy wuer

5,000 ¥

2,500 ¥

7200 ¥ @

3,400 X

n@qﬁmasmsomﬁaasmww

From the following Particulars, calculate Laboyr

Cost Variance :
Standard Labour Force :

A 10,000 Hrs. @ % 0.50 per hour

B 10,000 Hrs. @ X 0.25 per hour

Actual Laboyr Force :

NJ-1216

X 5,000 .

¥ 2,500

(15)

A 12,000 Hrs. @ % 0.60 per hour % 7,200
B 8,500 Hrs. @ % 0.40 per hour T 3,400
Due to machine break down, workers were idle

for 60 hours.

2,40
NJ-1216
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